thp

2023.7

=
‘o -2 | 49
1 1
B a+4b : @l —32x
38 B
o 5| 3a’b e 17x+ x
N
b 23 [ 23y }
(7) — ( =
A | 18a +27b +15 T 15
[
2] |vjo| 24 o] 52
3 |
x olo| o= 25 o s- Bmry
Jlﬁ’,‘ | a 11 7
mml P _ a-c
I e
C B 7| a2 [ awo
?Jﬂ’ ‘
“ Al |7 12 16i1 a+3
*1 67m+% %m +%y, %(6nz+y) E )
x2 £-& lo-do ta-0, 452 -te-a) HBW

10

h2-7

1 e
@  J7 o A
18
(1) -
©F 3
19
aaa
O »= 4 L y= -5
@ x= 3 . y= -1
e
® x= 2 . y= 5
2) _—
@l x= -1 L y= 1
=]
® x= =2 ¥ -3
SEE]
®f x= =3 y= 8
PEE]
@7 =x*3 14 7 (ofB) v ox= 7 fx= 21
[(3) ‘
| 2| 2 C
| 5] /[ 140 | | 120 (cm?)
@0 T ’; 180 (em?)
30
6] o #
32
ol - L[ - 80
O y= 95x 19 =
(2) %
ol (16 . 5 | ol 195 (emd)

*3 27)‘ bl

20

21

22

25

26

29

31

36


坪内由美
中2     2023.7


1] %_%:i,ﬁ_ﬁ:,m:_z (2) (=5)*—(~2)x3=25—(~8) x3=25+24=49
(_

=—-2a+9b+3a—5b=a+4b
4

(4) 56”*:(—%))—36)@4 /)>7*32x (5) —=9ab*xa*+ (—3d°b) = 9a?[)) ?Za =3d’b
(6) 5(Ux*—x) —3(x*—2x) =20x"—5x—3x*+6x=17x"+x
(1) =3 x (24a-366-20) = —3 x 24a+3 X360+ x20= ~18a+27b+15
(8) 3xf—32y 2x59y22(3x42)’)1—23(2x—9y):6x—4y 6x +27y _ 23\,
2]000 124+ 3b =82 EAHILT, a= -1 b=3%RALFF. 8x(~1)°x3=21
) 11(3(1*6b)+8( 2a+5b) = —4a+16ba;ﬂ-i—uf, a=-1 b=3%ftALZ T,
LT, —4x(-1)+16x3=14+48=52
@0 §=L g ip=25-p=2
@ 7X6‘v=m—>7xf_v:6m—’7x=6m+y—’x=6m—7+x
(3) (bohzE)=(DBE) <@ +(HEN)LVIHIEREFMLET,
(1:6><b+C—'a:6b+C—’6b+c=(1-*6b:a—c—'b:Lg—C
Bt A OIRTH 5 2 & 2 RT T, ZORDTAX B8 |6 452 L 2R L ET.
[4]1) @, ®okic, F~9oftiodz 2 h 2 LALT, (i) = Fil) ks b 0% i
OFd, PlziE, 1020z CALEE, x=1, _f:~20)17ﬁnti Vs
S ERD T x= -4 y=00BfiE, (F0) =3x (-4) -2x0= - 127,

muwu 2L v L, BATIEWTEHA. ADKXTIET., BOKXTIZA OHLAS
WE 7B h 5, L\/T$}fx{3"‘?yf’ OIE, T Al 5FTE,
B ‘ 2x +5y=-38
(2D {“3“_11”';:‘ FLET
Fty=—=1 ==
P-D LY, 2y= 10745, y=-5 WOIKATEE, x-5=-1k1, x=4
2¢+3y=3 @ -
. s & l +6y =6
{4x—y:13 @ ELFET, Dx2LD, 4x+6y=6
&-DLY, Ty=-T7>5, y=—-1, QIRATE L, 2x-3=3LY, x=3
y [y=-3 @

ELET. DEDIMALT, 5x—34x—-3) = -5

| 5x—3y=—5 (1)

DEfEE, x=2%5h5, DUMLAL T, y=4x2-3=5
3x—dy=-7 T
4 i - .
{ ~7x+6y=13 -4 L3y
Tx3EY, 9x—12y=-21--@), @Ox2&D, —ldxr+12y=26-
+@X Y, —5x=5H5, x=-1, DIMLALT, 7+6y=13&DH, y=1

— J01x-03y=07 =@ % . . {x_g),:7 ()
® {0.3){-0.2_\}:0 @ LT, #hFhoX%10545 L, 3r-2y=0 @
@x3L D, 3x—9y=21--Gb
@-DLY, Ty=-2172256, y=-3, @QITKALT, 3x+6=0& D, x=-2
1 1._3 )
§X+7_V——5' - (7) Gy OB ; {5x+3y:9 G
6 {qu.ﬁy _%i/ LLL. 7><15 IX6& )5 11x+3}:49 @

O—-& ), 6x=—-187h5, x=-3 MIIYLALT, —15+3y=97756, y=8
(31 y0)1%i‘§'5(9 E5ANE B9 DI TH H S EIEH LT, 2x+9y=54—9y=54 -2
—y=6- xa LE. gx#H"* HHLX xE9OMmK(9, 18 27, )T
5, Sx(i(SJ:V)/J\i‘(f FIUERD $HA. HTIRTHDIE, x=9, 18DL X T,
ORI 2 MITT . =002 X, Ix0+y=6LD. y=4 x-1801E Ex18+y=61D. y=2
(Bl e r, M 0B SHOROESE | ¥ 2L, 1=27r X585 T,
Ko fr e L5, 77z=27r><9><3%042‘), a=1407H5, 140 T,

2 Agowk=xEmEExEE Ly, [ PFMD)Leloxgxo=120(em”)

(3YD MWAPCQ. WPFC, HQCH. iAPFE, MAEHQ, iCFG, MCGH, MEFGH® 8-
DW7EH 6, NEER(I) T,
® (v M\APCQEPGH) (\/.}J%ABCDOIE)I;%%) _tﬁsﬁiﬁgl{%&%,(,,.ﬂiﬂi.%%% .
7. PB=QD=5AB=%%6=3(cm) TH,
Lo, ("L{$APCQ£I?§$§) 63—§X%X6X6X3~§X§X6X6X3—18O(cm)
(6] (1) iz BRI, xy = 1605 KX NDAE, yIZOWLTRNT 160
LoT, yvidxZRIEFIL, HBEEIZ1607250 5, IELKHML TV (;t?f T3
(20D Wl oXEy=ar LT, AW, 20) &0, ¥ ol
x=4, y=201KA =-20=ax4—a=5—y=5x o0l Q] P
@ WEmoREy=LriT A4 200k, = ?

x=4, y=20%fA ~20=2 —~p=80—y =50

® sy =30 Lo, xumai6r s

=80 =16mfth ~y=82-5-B0s. 5) 5H{@i-

54> /umlx!@;v LMD, AN, I of
74T L2em g
FCRDFET, 4<Jm ?,c]m

%x4x20+%x (5+20) X 12+ 5 x2x5=40+ 150+ 5=195 (cm?)

* PUMILAOCB%E 5 < &, BIEAOCPR R AILOCPQO A 5. BEOAE L H o mifiz T
KOTHLEWTT.

th2-7



